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The effect of indexation on your pension

Revenu de la pension
de la fonction publique
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For example, if you retire at age 65 with an annual pension of $31,166.25
and the inflation rate is :

. 1% per year (which means your pension would increase by 1% each
year): :
o The following year, at age 66, your pension would be $31,477.91.
o 1% per year (which means your pension would increase by 1% each year):
o The following year, at age 66, your pension would be $31,477.91.
o Ten years later, you would receive: $34,426.93.
. 2% per year (which means your pension would increase by 2% per
year):
o The following year, at age 66, your pension would be $31,789.58.

o Ten years later, you would receive: $37,991.48.2 % par an.



